
Sec. 1.9 2

A(λ) =
1
π

∫ ∞
−∞

f(x) cos(λx)dx =
1
π

∫ t+h

t−h

cos(λx)dx =
sin(λ(t+ h)− sin((t− h))

π

B(λ) =
1
π

∫ ∞
−∞

f(x) sin(λx)dx =
1
π

∫ t+h

t−h

sin(λx)dx =
cos(λ(t− h)− cos((t+ h))

π

So
f(x) =

∫ ∞
−∞

A(λ) cos(λx) +B(λ) sin(λx)dx

Sec 1.11 2 First of all,

t

4π
∼ 0.5 +

∞∑
n=1

−
sin(n

2nt)
nπ

Let

u(t) = A0 +
∞∑

n=1

An cos(nt/2) +Bn sin(nt/2),

Then by matching the coeffiecient, we get

A0 =
1

2.08
An =

0.4π
(1.04− n2)2 + (0.4n)2

Bn =
−1
nπ

1.04− n2

(1.04− n2)2 + (0.4n)2
(1)

1


